T E M

2013.01.03
N AME ouT IN ' GROSS HDCP NET R AN K
F B 40 4 81 12.6 68.4 | & B
EHR EX 41 39 80 9.0 71.0 &R
EK BRI 42 46 88 | 14.4 73.6 341
F IE1T 411 4 82 7.2 74.8 Az
NIE BA 44 42 86 |« 10.8 75.2 Yivi
hi BE— 46 44 90 | 14.4 75.6 641
Fr #WE 42 43 85 9.0 76.0 1L
B IBfT 42 46 88 | 10.8 77.2 811
Hik A 43 47 90 | 12.6  77.4 9L
iz, N 46 4 87 9.0 78.0 10z
Fil NE 44 37 81 2.7 78.3 1141
JRE A 53 47 | 100 | 21.6  78.4 12431
28 HX 42 46 88 9.0 79.0 134z
EiE BsAl 43 43 86 6.3 79.7 1441
ZE EN 52 | 47 99 | 18.9 80.1 1541
WH BX 51 49 | 100 | 19.8 80.2 1643z
HfE FH 46 41 87 6.3 80.7 17431
g S 47 41 88 7.2 80.8 18431
=8 AN 48 49 97 | 16.2 80.8 194z
M EE 47 42 89 8.1 80.9 204iz
& ARk 43 46 89 8.1 80.9 21431
EH#H B 46 45 91 9.9 81.1 22431
BR AT 54 50 | 104 | 22.5 81.5 23431
BAR EX 42 49 91 9.0 82.0 24431
A EBEA 55 47 | 102 | 18.9  83.1 25431
U= EA 49 53 | 102 | 18.9| 83.1 264L
=2 A% 46 50 96 | 12.6 83.4 27451
¥R =P 50 47 97 | 13.5 83.5 28431
5K EBih 47 47 94 9.9 84.1 29431




T E M

2013.01.03
N AME ouT IN ' GROSS HDCP NET R AN K
RE A 50 48 98 | 13.5 84.5 30431
AL EE 49 43 92 7.2 84.8 3143
AR ZHEh 50 43 93 8.1 84.9 32431
by HEF 47 46 93 8.1 84.9 33431
BA EhA 48 47 95 9.9 85.1 34431
HZ2 ®EX 44 47 91 5.4 85.6 3541
RIK Ei 47 48 95 9.0 86.0 36431
S A& 49 52 | 101 | 14.4 86.6 3741
Wik =k 49 47 96 9.0 87.0 3841
=I5 ME 44 47 91 3.6 87.4 39431
iR R 45 57 | 102 @ 14.4 87.6 40431
EX IEHR 53 51 104 16.2| 87.8 4141
W REE 55 | 43 08 9.0 89.0 4241
BH E— 57 51 | 108 | 18.9 89.1 43431
=l XkHE 52 49 101 9.9 91.1 4443
"R {Z 50 53 | 103 | 11.7 91.3 4541
& E8 52 49 101 9.0 92.0 46431
=Ml IEA 57 57 | 114 | 19.8| 94.2 47431
—# EA 53 52 | 105 9.0 96.0 4841
IhNe RE 50 55 | 105 9.0 96.0 49431
IMNI FE— 48 58 | 106 9.0 97.0 50431
e B 0 0.0 999 N R
AE = 0 0.0 9999 N R
mfE e 0 0.0 999 N R
£8 &N 0 0.0 999 N R
ZF EBZ 0 0.0 99.9 X #&
e 2 0 0.0 99.9 & #&
BA & 0 0.0 99.9 & #&
RE B 0 0.0 99.9 & #&




T E M

2013.01. 03
N A M ouT IN ' GROSS HDCP | NET A N K
F IEZ 0 0.0 99.9 X 18
ZRK FH 0 0.0 99.9 X I®
2% M 0 0.0 99.9 X I8
TR Z&—H 0 0.0 99.9 X I8
AR #H— 0 0.0 99.9 X IE
A IEME 0 0.0 99.9 X I®
AT Eif 0 0.0 99.9 X I8
=H Mg 0 0.0 99.9 X I®
A =A 41 41 82 8.1 73.9 Fhotekerck




